1.

REETFAN EE 2508 01

M ABORESZRD L. (SH35®, A1, B13408, C#H2330%)
(1) A(0,0),B(3,6) (2)  A(—4,-1),B(3,0)
(3)  A(8,9),B(—4,4) (4)  A(—4,5),B(2,—4)
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2. MO ABOEIZRD L. (S35, A1y, B14540%, C#24530% )

(1) A(0,0),B(2,6) (2)  A(—4,-6),B(2,0)

(3)  A(7,10),B(—1,4) (4)  A(=2,5),B(2,-7)
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RHTFA BER 2S0FE#H 01 BERHR

M ABORESZRD L. (SH35®, A1, B13408, C#H2330%)

Yy B(bs,by) * 2 ADEH BLROORIBZ=FHFDOEE
Alag,ay) , B(bs,by) KL T, #55 AB DRI X

> AB = /(by — az)? + (by — ay)?

“C(bs, ay) OEM AT ABC Ick SRHOER Z#EA L 7.

A(ay,ay)
O v Yo /(az — b2)2 + (4, — by)2 TH LW,
(1) A(0,0),B(3,6) (2)  A(—4,-1),B(3,0)

AB=./(3-0)>+(6-0)? AB=/{3- (-9 +{0-(-D}?

=32+ 62 =712+ 12

=9 +36 =49+ 1

V45 = /50
- 35 =52

W= 1:2: /6 2R3 LR,

(3)  A(8,9),B(—4,4) (4)  A(—4,5),B(2,—4)
AB = \/{(—4) - 8}2 + (4—-9)? AB=/{2—(—4)}2+ (-4 -5)?
=122 + 52 =62+ 92
— JVII+ % = /36 + 81
= /169 = V117
- 13 = 34/13
N= A 501213 2V 3 E R, Y= 2:3: VI3 VS ERG.
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2.

MO ABOEIZRD X, (SH35F, A14r, Bi1740%, C#H% 24 30F)

(1) A(0,0),B(2,6)

AB=,/2-0)2+ (6—0)?

= /22 +62

VA 1:3: V10 ZHV S LR,

(3)  A(7,10),B(—1,4)

AB = /{(-1) = 7}>+ (4 - 10)?
=82+ 62
= V64+36
= V100

=10

S 345 ZHWS ERW,
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(2)

(4)

A(—4,-6),B(2,0)

AB= /2 (D) F {0 (0
— VTR
— V3636
— V7

= 6V2

WEA1:1:vV2 203 LR,

A(-2,5),B(2,-7)

AB=/{2-(-2)}2+(-7-5)2
= V42 +122
= /16 + 144
= /160

=4v10

YW= 1:3: /10 Z v 5 & s,
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